L imils at too

A sl-m£e_j3 thot sometimes helps to evaluofe Limits as
X— too is to J(’ac{-or +he [ou‘jesé terms Jcrom the

Numeroyor and denominator.

EX: Evaluake Lim 2X+X _w
X—00 7)(3"'1

Solwtion:

L 234X g X205

X—00 Ux3+q X""”/{‘((7+'—)

2*&'{'0 2+t0 | 2

- Ldim 21X

xS0 72 T 7o T |7

Ex: Tf feod= €% | find Lim §60 and  Lim [0

X— —-00
eax+| 00 X

X
SO ton:- oM = ‘ e’+|
luho g—mo f(x) xﬁ";o o= ~ u%




]
&>
3

w20 )
x—woz{ (|+/?{>O

S O- |+o H O~1_ = |O

o)
(o]
) A o+1 _
Alseo [;m f(x) - Lim _éo' - 0:_1_ - |1
X—7-00 x_)"w +|

Note: I )&nw f(x)=L_ or .Zim f(X)=L_ Where L

X—-00

iS o (fmurc) teal. Nnumbec, +hen )C has a horizontal

0.SumMptote (HA) &t j:L..

'

A ﬂ""l’"‘ can Cross an asdmr%o+e!

\ A )cunc-l-:on may

/haveupb&HAs
X




oEX Find ol [’)OFaZon-}M asjm[’{"”l-'&s OF f(x)' +;,

.m f(x) and xé;rfw f(x\!

X~ 00

\lwl
J/ oo ./—\ Since X—» 00
Lim 0L f [T gin (oS

X— 00 X+3 X—)oo X(1.+—) X—r00 X(l*%)

Soluhon : Le-l—:g COmeI-e

(1+0)

Thus, +here s o horizontal asymptote at \1=l.

\Iwh
Lm LT i 2l | g Sl S xme
X2ew X3 xeew X(F) e k(e MEex

g ALE
X -00 X(1+7a"

=-1+O o
(t+0) = 1

T‘Aus, there s o horizontal &S%MF*OH’. ot \1=-1.




Infmi{e_ Limits
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Additional Exercises:
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